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3. 8x%—10xy - 12y? & AFESHS ], A A& I 2HA?

D x-vy @ x+2y ® 2x+4y
@ 4x -3y ®)4x + 3y

8x2 — 10xy — 12y* = 2 (4x% — 5xy — 6)?)
=2 (x—2y) (4x + 3y)




@ x*+1=0
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(x+2)(x—4)=x>-2x-8=0
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OlAFeHA y = x2 4 20+ 4 1A F(-2) + £(3) O] 7S

®1 @5 ®13 @2 633

f(=2)=(-2)2+2x(-2) +4 =4
f(3)=324+2x3+4=19
L f(=2)+ f(3)=4+19=23
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x= V2 +72=V12x2=7+2
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a? =122 + 52

s.a= 144 + 25 = V169 = 13
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11. 0°<x<90° & o, th3 5 &2 27

® -1<cosx<0 (@>0§sinx§1
@ 0<tanx<1 @ -2<sinx<-1

® -1<cosx<0

0°<x<90° Y 0<sinx<1,0<cosx<1,tanx >0




12. o= ™A x+y o] f127
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= cos30°

3

y = 10 x tan30° = 10 x

Lx+y=10V3
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MB = 3, AOMB 9|4 OB = V32 432 = 312
A x = 32 °|t},
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@2 @u 0w

@ 22°

® 21°

£ABC = 180° - 100° = 80°
£x = 180° — 80° — 75° = 25°




15. & o)A PC = 8&cm, PA = 4cm
, /DPB =90° ¢ o], PD Zo|&?

©2cm @ 4cm ® 6cm @ 8cm ® 10cm

PA-PB=PC-PD °|E&2 4-4=8-PD
-~ PD=2cm




